[ Efficiency vs vertpos |

- 05
20.45
4
2 04
(8]
$0.35

o
N
[¢)]
T[T [T [TI T[T [T [ TT I T[T T [TTrr 77T

PRI 00

L
+
+
H
+
3
M
n
)
+
+
+
3

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_mkFit_TT_baseline_6iter
Efficienq —— poM_mkFit_TT_Retrainv2_WP1_siter

~ 0.5
20.45
n
> 04
>
2
$0.35
0.3
0.25]
0.2
0.15
0.1
0.05
e

ettici

Ratio

[y

T

>«

» o
e

> <

» o

¥

» o

>4

> o

>4

> o

093P =20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~n 0.2
>
Q. 0.18f
c o
7 0.16
£0.14F
& o
€ 0.12F
0.1
0.08
0.06)
0.04F

0.02

efticie

1.0

Ratio

T
i
T

iy

L

P -5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


